### Stock buyback program Information

Date: 01/11/2023

# Bolsa Mexicana de Valores, S.A.B. de C.V., informs:

STOCK EXCHANGE CODE

PINFRA

NAME OF THE COMPANY

PROMOTORA Y OPERADORA DE INFRAESTRUCTURA,

S.A.B. DE C.V.

DATE OF THE OPERATION

01/11/2023

**RESOURCES REMAINING** 

Up to the last Report	4,552,285,717
Currently	4,548,637,858

### **OPERATION FOR EACH OF THE SERIES**

\_\_\_\_\_

### **SERIES** \*

**BROKERAGE** GBM

### **BALANCES**

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	380,123,523	50,845,636
To the present Report	0	380,123,523	50,869,393

## **OPERATIONS**

Folio	Type of Operation	Number of Shares	Purchase Price	Value of the Purchase	Shares Under
77841	BUY	156	\$150.69	\$23,508	EQUITY
77842	BUY	791	\$150.70	\$119,204	EQUITY
77843	BUY	100	\$150.99	\$15,099	EQUITY
77844	BUY	337	\$151.00	\$50,887	EQUITY
77845	BUY	5	\$151.10	\$756	EQUITY
77846	BUY	129	\$151.71	\$19,571	EQUITY
77847	BUY	111	\$151.77	\$16,846	EQUITY
77848	BUY	101	\$151.81	\$15,333	EQUITY
77849	BUY	101	\$151.99	\$15,351	EQUITY
77850	BUY	137	\$152.00	\$20,824	EQUITY
77851	BUY	508	\$152.39	\$77,414	EQUITY
77852	BUY	93	\$152.58	\$14,190	EQUITY

77853	BUY	11	\$152.59	\$1,678	EQUITY
77854	BUY	5	\$152.61	\$763	EQUITY
77855	BUY	15	\$152.74	\$2,291	EQUITY
77856	BUY	1	\$152.76	\$153	EQUITY
77857	BUY	3	\$152.77	\$458	EQUITY
77858	BUY	100	\$152.79	\$15,279	EQUITY
77859	BUY	3	\$152.80	\$458	EQUITY
77860	BUY	30	\$152.81	\$4,584	EQUITY
77861	BUY	3	\$152.82	\$458	EQUITY
77862	BUY	210	\$152.83	\$32,094	EQUITY
77863	BUY	75	\$152.84	\$11,463	EQUITY
77864	BUY	1	\$152.85	\$153	EQUITY
77865	BUY	39	\$152.87	\$5,962	EQUITY
77866	BUY	26	\$152.90	\$3,975	EQUITY
77867	BUY	110	\$152.91	\$16,820	EQUITY
77868	BUY	101	\$152.92	\$15,445	EQUITY
77869	BUY	100	\$152.94	\$15,294	EQUITY
77870	BUY	15	\$152.95	\$2,294	EQUITY
77871	BUY	30	\$152.97	\$4,589	EQUITY
77872	BUY	143	\$152.98	\$21,876	EQUITY
77873	BUY	144	\$152.99	\$22,031	EQUITY
77874	BUY	1235	\$153.00	\$188,955	EQUITY
77875	BUY	30	\$153.02	\$4,591	EQUITY
77876	BUY	95	\$153.03	\$14,538	EQUITY
77877	BUY	45	\$153.07	\$6,888	EQUITY
77878	BUY	118	\$153.08	\$18,063	EQUITY
77879	BUY	23	\$153.09	\$3,521	EQUITY
77880	BUY	233	\$153.10	\$35,672	EQUITY
77881	BUY	216	\$153.12	\$33,074	EQUITY
77882	BUY	100	\$153.13	\$15,313	EQUITY
77883	BUY	208	\$153.15	\$31,855	EQUITY
77884	BUY	130	\$153.16	\$19,911	EQUITY
77885	BUY	301	\$153.17	\$46,104	EQUITY

77886	BUY	111	\$153.18	\$17,003	EQUITY
77887	BUY	101	\$153.19	\$15,472	EQUITY
77888	BUY	180	\$153.21	\$27,578	EQUITY
77889	BUY	8	\$153.22	\$1,226	EQUITY
77890	BUY	224	\$153.23	\$34,324	EQUITY
77891	BUY	763	\$153.24	\$116,922	EQUITY
77892	BUY	95	\$153.25	\$14,559	EQUITY
77893	BUY	5	\$153.27	\$766	EQUITY
77894	BUY	306	\$153.29	\$46,907	EQUITY
77895	BUY	26	\$153.30	\$3,986	EQUITY
77896	BUY	150	\$153.32	\$22,998	EQUITY
77897	BUY	253	\$153.33	\$38,792	EQUITY
77898	BUY	271	\$153.34	\$41,555	EQUITY
77899	BUY	147	\$153.35	\$22,542	EQUITY
77900	BUY	20	\$153.36	\$3,067	EQUITY
77901	BUY	39	\$153.37	\$5,981	EQUITY
77902	BUY	111	\$153.38	\$17,025	EQUITY
77903	BUY	1	\$153.39	\$153	EQUITY
77904	BUY	402	\$153.40	\$61,667	EQUITY
77905	BUY	224	\$153.41	\$34,364	EQUITY
77906	BUY	176	\$153.42	\$27,002	EQUITY
77907	BUY	54	\$153.43	\$8,285	EQUITY
77908	BUY	3	\$153.44	\$460	EQUITY
77909	BUY	396	\$153.45	\$60,766	EQUITY
77910	BUY	152	\$153.46	\$23,326	EQUITY
77911	BUY	202	\$153.47	\$31,001	EQUITY
77912	BUY	120	\$153.48	\$18,418	EQUITY
77913	BUY	5	\$153.49	\$767	EQUITY
77914	BUY	599	\$153.50	\$91,947	EQUITY
77915	BUY	228	\$153.51	\$35,000	EQUITY
77916	BUY	105	\$153.52	\$16,120	EQUITY
77917	BUY	195	\$153.53	\$29,938	EQUITY
77918	BUY	69	\$153.54	\$10,594	EQUITY

77919	BUY	31	\$153.55	\$4,760	EQUITY
77920	BUY	279	\$153.56	\$42,843	EQUITY
77921	BUY	533	\$153.57	\$81,853	EQUITY
77922	BUY	3	\$153.58	\$461	EQUITY
77923	BUY	270	\$153.59	\$41,469	EQUITY
77924	BUY	591	\$153.60	\$90,778	EQUITY
77925	BUY	301	\$153.61	\$46,237	EQUITY
77926	BUY	240	\$153.63	\$36,871	EQUITY
77927	BUY	5	\$153.64	\$768	EQUITY
77928	BUY	5	\$153.65	\$768	EQUITY
77929	BUY	206	\$153.69	\$31,660	EQUITY
77930	BUY	446	\$153.72	\$68,559	EQUITY
77931	BUY	453	\$153.75	\$69,649	EQUITY
77932	BUY	100	\$153.76	\$15,376	EQUITY
77933	BUY	25	\$153.79	\$3,845	EQUITY
77934	BUY	10	\$153.80	\$1,538	EQUITY
77935	BUY	66	\$153.82	\$10,152	EQUITY
77936	BUY	5	\$153.83	\$769	EQUITY
77937	BUY	255	\$153.91	\$39,247	EQUITY
77938	BUY	102	\$153.96	\$15,704	EQUITY
77939	BUY	100	\$153.97	\$15,397	EQUITY
77940	BUY	2	\$154.00	\$308	EQUITY
77941	BUY	131	\$154.02	\$20,177	EQUITY
77942	BUY	54	\$154.03	\$8,318	EQUITY
77943	BUY	375	\$154.05	\$57,769	EQUITY
77944	BUY	30	\$154.06	\$4,622	EQUITY
77945	BUY	409	\$154.07	\$63,015	EQUITY
77946	BUY	5	\$154.11	\$771	EQUITY
77947	BUY	21	\$154.13	\$3,237	EQUITY
77948	BUY	90	\$154.14	\$13,873	EQUITY
77949	BUY	187	\$154.15	\$28,826	EQUITY
77950	BUY	8	\$154.16	\$1,233	EQUITY
77951	BUY	44	\$154.17	\$6,783	EQUITY

77952	BUY	3	\$154.18	\$463	EQUITY
77953	BUY	277	\$154.19	\$42,711	EQUITY
77954	BUY	100	\$154.28	\$15,428	EQUITY
77955	BUY	103	\$154.39	\$15,902	EQUITY
77956	BUY	222	\$154.44	\$34,286	EQUITY
77957	BUY	84	\$154.46	\$12,975	EQUITY
77958	BUY	105	\$154.47	\$16,219	EQUITY
77959	BUY	100	\$154.49	\$15,449	EQUITY
77960	BUY	138	\$154.50	\$21,321	EQUITY
77961	BUY	134	\$154.51	\$20,704	EQUITY
77962	BUY	172	\$154.53	\$26,579	EQUITY
77963	BUY	5	\$154.59	\$773	EQUITY
77964	BUY	5	\$154.70	\$774	EQUITY
77965	BUY	5	\$154.71	\$774	EQUITY
77966	BUY	5	\$154.72	\$774	EQUITY
77967	BUY	510	\$154.73	\$78,912	EQUITY
77968	BUY	87	\$154.74	\$13,462	EQUITY
77969	BUY	928	\$154.75	\$143,608	EQUITY
77970	BUY	295	\$154.76	\$45,654	EQUITY
77971	BUY	80	\$154.77	\$12,382	EQUITY
77972	BUY	364	\$154.78	\$56,340	EQUITY
77973	BUY	105	\$154.79	\$16,253	EQUITY
77974	BUY	138	\$154.80	\$21,362	EQUITY
77975	BUY	141	\$154.81	\$21,828	EQUITY
77976	BUY	100	\$154.82	\$15,482	EQUITY
77977	BUY	1	\$154.84	\$155	EQUITY
77978	BUY	156	\$154.85	\$24,157	EQUITY
77979	BUY	203	\$154.86	\$31,437	EQUITY
77980	BUY	3	\$154.89	\$465	EQUITY
77981	BUY	80	\$154.90	\$12,392	EQUITY
77982	BUY	251	\$154.91	\$38,882	EQUITY
77983	BUY	6	\$154.92	\$930	EQUITY
77984	BUY	350	\$154.98	\$54,243	EQUITY

77985	BUY	30	\$154.99	\$4,650	EQUITY
77986	BUY	880	\$155.00	\$136,400	EQUITY

# **SERIES L**

### **BROKERAGE**

# **BALANCES**

	Treasury Shares	Shares in circulation	Shares charged to equity
To the last Report	0	49,416,058	2,527,823
To the present Report	0	49,416,058	2,527,823

# **OPERATIONS**

Folio	Type of	Number of	Purchase	Value of the	Shares
FOIIO	Operation	Shares	Price	Purchase	Under